[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03F
0.02
0.0

1.0

Ratio

102

10

1

10 0
TP vertr (cr%)

2

Efficiend

—=— DQM_mKkFit_TToriginal
—e— DQM_mkFit_TT_pL
—— DQM_mkFit_TT_pLW

~n 0.2

TR RT: SXRRE SCRUE PRI SRS
n o : : : :
L S S R
2 E : : : :
GOLAE e
S F . . .
£0.12F b fre s
[} : H

V5| SEURPRS
0.08fF -+
0.06f -+l
O A 41
0.02F------t---f{It

L 0OF

...................

..................

............

............

............

Ratio

H
T

0.95!

[ Efficiency vs. sim PV z |

10 20
TP vert z (cm)

~n 0.2

> : : : : :
Q0.18f- R R R

E

20.12F
0.1

efticie

0.08ff---beeeeeedeeeens R R SRR

0.06)
0.04

0.02

&
L

L At EEE SRR SR S
| T S R S
> . . . .

..............................................

..............................................

..............................................

1.0

Ratio

=10

LO 15
Sim. PV z (cm)

30

20




	Contents
	Page 1


